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I. Answer all the questions 





1 x 10 = 10
1. Which of the following does not characterize the Business Environment
a. Uncertainty
b. Complexity
c. Employees      d. Relativity

2. “Release of a Bollywood movie is postponed due to opposition by one of the Ministers”. This is an example of which business environment ?
3. Which environment prohibits the advertisement of alcoholic beverages?

4. A company needs a detailed plan for its new project, ‘ Construction of a Shopping Mall’. What type of plan is it?

a. Strategy

b. Programme

c. Method

d. Policy

5. Following a pre-decided plan, when circumstances have changed, may not turn out to be in the organisations’ interest. Which limitation of planning is indicated here?

6. State the first step in the process of planning.

7. Name the type of plam which is time bound and linked with measurable outcome.

8. Which of the following structure of organization does not follow the scalar chain?

a. Functional 
b. Divisional  
c. Formal
d. Informal
9. Grouping of activities on the basis of functions is a part of _____________________ organization.

10. Which of the following is not an element of delegation?

a. Accountability
b. Authority
c. Responsibility
d. Informal Organisation 

II. Answer in Short 






3 x 5 = 15

1. Define “Organising”.

2. Can a large-sized organization be totally centralized or decentralized? Give your opinion.

3. What is meant by ‘Policy’ as a type of Plan?

4. The court passed an order to ban polythene bas as:

(i) As these bags are creating environmental hazards

(ii) Society in general is more concerned about the quality of life

(iii) The government decided to give subsidy to jute industry to promote the business.

Identify the dimensions of Business environments discussed above.

5. Explain three characteristics of Business Environment.
III. Answer in detail. 
Marks are specified against the respective questions


25

1. What are the essential features of 

(i) Liberalisation 
(ii) Privatisation 
(iii) Globalisation


6
2. The court passed an order that all schools must have water purifier for the school children as

(i) Society in general is more concerned about the quality of life

(ii) Innovative techniques are being developed to manufacture water purifiers

Identify and explain the different dimensions of Business Environment here.   
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3. Differentiate between Single-use plans and Standing plans.

4
4. Explain the external limitations of Planning.




5
5. A company , which manufactures a popular brand of toys, has been enjoying good market reputation. It has a functional organization structure with separate departments for Production, Marketing, Finance, Human Resources and R&D. 

Lately to use its brand name and to introduce new products it is thinking to diversify into new range of electronic toys for which a new market is emerging.

Suggest a change in the Organisational structure and explain the merits of the new structure.
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